(BA==)

‘A DE

B RIE

BF
z¥

(FA==)

<d3—+&E=

AR

REEEREKE
AR
-FAZDF

AR DEF
RAERR

" RE

- REEERFEF
-FARXDEF

EtESFFR
BAEHEBMIRREFFR

Ty7 ¥

HAM

"Rl

10 9 8

wF

Xt

HAO

]

RBERZEM (MR RFER)

ARAETR(FE)
13—k 23—k 33—k 43—k 63—k 73—k 83—k 90—+
ARFEE (9:00~9:40)

Z2HE =ER Cidbib Iz B IR
IMT-1 D|MT-2 D|WT-1 D|{WT-2 D|f MS-1 | MS-2 | MS-3 | MS—-4
0R{0fMT-1 S1|MT-2 S1|WT-1 S1|WT-2 S1f| WS-1 WS-2 | WS-3 | WS4
INEO Oy MT-1 S2|MT-2 S2|WT-1 S2|WT-2 S2f MD-1 MD-2 | MD-3 | MD-4

WD-1 | WD-2 | WD-3 | WD-4
AN MT-=R D|MT-iRR% D|WT-iRf D|WT-=R D|| MS—5 MS-6 | WS-5 | WS-6
AR O MT-= 3R S1|MT-3RE 1| WT-3RB% s1|wT-=3r sif MD-5 | MD-6 | WD-5 | WD-6
SRR 0 MT-= 3% s2| MT-sRE s2|WT-3RBS S2[WT-=3 s2 MS—iR B WS-k B
MD—iR i WD-iR

MT-BE# D-%8 WT-kEik S1/S2-B MS-B B WS- E MD-$1% MD-54#




[(BF HiK]
1 4 g2 (=) —
2 W B (RE) —
— 4
3 &£ B B & R (M —_—
4 E T BT E (HBE —
[(AABF E]
1 Bl BE(—7 - & )—
1
2 B i A(#RIg -=8)—
3 A H HA(ZEEE-%8)—
2

4 4t B @ K EBTnLT47 i E)—

5 R BE(EBZ2E-#E)—
3

6 KRS KEBE(Z #H -8 m)—

7 5 H OE I (FHERE-KER)—

4
8 % % M(ABA-=F)
(AABF 48]
1£ﬁﬁfx§§<*§ﬁ-%m>—
1
2 ;’;”g{t’vgéa#-ﬁﬁu)—
3 %*Wiﬁ?gwszﬁlﬁ-u&a—
2
4 Emiii(ﬂ%ﬁ'zi)_
5 ﬁ% L,ﬁ?(ﬁﬁ:%-ﬁﬁ)—
3
6 i_ilb‘g gﬁ;%(%%i-ﬁ%ﬁ)—
7 gq’;’s"%(mn%ﬁ-zi)—
4
sff‘? iif%(%%-ﬁfu)—

gca
(ZF HiX])
1 £ H 7 (Z50) —
1
2 [ 5 & (=Z§) —
3 B m & (B —
2
4 W M (IRE) —
[BALF H#)
1 B tiEGERREE -8%E) —
1
2 RE N (prexE-=5)—
5
FILRYFT 4T .
38 LRSI (Wao ks 2Mm) —
2
4 B £ B(EBEH- KB )—
7 I
5 T H BB (BEBELRV-=ZF)—
3
6 B & BF(EBEB - KB )—
6
7 MK BB (BHEHM-BE)—
4
8 MM A BT EURYURER-BH)—
[BEANLZF 4]
== | A (2 =
1 x g ;:E;(%EE;EPS& B ) —
1
BEAX BE R, _ -
2 & ,L,\@(_%Eﬂi %) ——
5
XEF BT, . = .
3 0 H B%;T_é(gaﬁ B B )—
2
WA OB, e sl =
7 I
%A B =
5 DUNN AsheLy (TREE® W - E)
3
X f ®E ~ = .
6 ¥ = ﬁ%(xllei B 4 ) —
6
R E AR L=
T @ %%utg = &8 )—
4
B BB B D o g s
8 % m ﬁﬂi(,ﬁﬁit oE ) —



